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import sys

sys.path.append("statlib")

from xtest import kappa_m

kappa_m(r, exact=False, detail=True, verbose=True)

5%

r

nm

Fleiss

each

verbose

RD{ED &R

"

m
"method"
llkappall

se
lvzll

BIBUC G522 DIE, nxm D RITHIIE7IE"HY X +TH 5,

T 7 A b True, BIBUC n xk D RITFSN EF/LIEZEVA M 2525 & Ei3
nm=False IZT5Z &,

77 4 )V F Tl True T, Fleiss IC& % k KD 3,

Conger I2 X B 1Eff7 k 3Rk % & & False T %, XL ZDHAICIE, IEMER «
LORRINE N,

True D & &, verbose=True % 561X, A7 IV —TL,Dk bERRT S, £RLiuL
THEMEIN, EhfHE LTHHEITEI NG,

HERNRO 7Y v PR T S

KRB DI

e ADY /e

Fikt

K

Kk DRFHEG

BoEktataE (BEERSMICL2hY))



"pvalue" p fH

"results" ATV —=TEDk

"nk" LT —F D nxm{TH2%EE L7z n X k 1751
"mk" JLT =% D nxm iz %G L7 mx k1751

3 {EMABI

T=F B TR ED XD, HFRRXHEIEE 25207, BRI 3EF RS EBH 5,
72, —HOMHTIE nxmTHITIE R, ZNE2HEFH L nx kTSRO TWE DD 5 D TEF
LiawkHic REICE, nxkfThl Z2&ATWS),

3.1 nxm{THHhSHHIHE

[["Neu",
["Per",
["Per",
["Oth",
["Per",
["Dep",
["Sch",
["Dep",
["Dep",
["Oth",
["Dep",
["Dep",
["Per",
["Dep",
["Per",
["Sch",
["Dep",
["Dep",
["Per",
["Dep",
["Oth",
["Per",
["Per",
["Dep",
["Dep",
["Per",
["Dep",
["Per",
["Dep",
["Oth",

r =

import sys

"Neu",
"Per",
"Sch",
"Oth",
"Per",
"Dep",
"Sch",
"Dep”,
"Dep",
"Oth",
"Neu",
"Per",
"Per",
"Neu",
"Per",
"Sch",
"Dep",
"Dep”,
"Per",
"Sch",
"Oth",
"Neu",
"Per",
"Dep”,
"Neu",
"Per",
"Dep",
"Per",
"Sch",
"Oth",

"Neu",
"Per",
"Sch",
"0th",
"Per",
"Sch",
"Sch",
"Sch",
"Neu",
"0th",
"Neu",
"Neu",
"Per",
"Neu",
"Neu",
"Sch",
"Dep",
"Dep",
"Neu",
"Sch",
"0th",
"Neu",
"Neu",
"Neu",
"Neu",
"Per",
"Dep",
"Neu",
"Sch",
"0th",

sys.path.append("statlib")

"Neu",
"Oth",
"Sch",
"0th",
"Neu",
"Sch",
"Sch",
"Sch",
"Neu",
"0th",
"Neu",
"Neu",
"Sch",
"Neu",
"Neu",
"Sch",
"Neu",
"Dep",
"Neu",
"Oth",
"0th",
"Neu",
"Oth",
"Neu",
"Neu",
"Per",
"Dep",
"Neu",
"Sch",
"Oth",

"Neu",
"Oth",
"Sch",
"Oth",
"Neu",
"Sch",
"Oth",
"Sch",
"Neu",
"Oth",
"Neu",
"Neu",
"Sch",
"Neu",
"Neu",
"Sch",
"Oth",
"Dep”,
"Neu",
"Oth",
"Oth",
"Neu",
"Oth",
"Neu",
"Neu",
"Per",
"Oth",
"Neu",
"Sch",
"0th",

"Neu"],
"0th"],
"0th"],
"0th"],
"Neu"J,
"Sch"],
"0th"],
"Neu"],
"Neu"J,
"0th"],
"Neu"],
"Neu"],
"Sch"],
"Neu"],
"0th"],
"0th"],
"0th"],
"Per"],
"Neu"],
"0th"],
"0th"],
"Neu"],
"0th"],
"Neu"],
"0th"],
"Neu"J,
"0th"],
"Neu"],
"Sch"],
"0th"]1]




from xtest import kappa_m

a = kappa_m(r)

Fleiss' Kappa: 6 Raters, 30 Subjects, 5 Categories
kappa = 0.43024, SE = 0.024374, Z = 17.652, p value < 0.0001
Kappa SE Z p value

Dep 0.244755 0.04714 5.192043 < 0.0001
Neu 0.471127 0.04714 9.994119 < 0.0001
Oth 0.566118 0.04714 12.009172 < 0.0001
Per 0.244755 0.04714 5.192043 < 0.0001
Sch 0.520000 0.04714 11.030866 < 0.0001

b = kappa_m(r, each=False)

Fleiss' Kappa: 6 Raters, 30 Subjects, 5 Categories
kappa = 0.43024, SE = 0.024374, Z = 17.652, p value < 0.0001

c = kappa_m(r, Fleiss=False)

Fleiss' Kappa: 6 Raters, 30 Subjects, 5 Categories (exact value)
kappa = 0.44181
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d = kappa_m(nk, nm=False)

print (d["kappa"]l)

Fleiss' Kappa: 14 Raters, 10 Subjects, 5 Categories

kappa = 0.20993, SE = 0.016965, Z = 12.374, p value < 0.0001
Kappa SE Z p value

1 0.201282 0.03315 6.071916 < 0.0001

2 0.079670 0.03315 2.403352 0.0162
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